







































































































EX4.2.1
a 7 6 73 4 A 6 3 4

2X 2

s 5 413
by 67 62 1 a 7 X 2 1

34 6

2 5 42
y 32 3 3

2
2 3 X

2 3 0

IX311 11 0

3 aux 1 S 4 1,3
y a ya ya ya

322 33 2

2 1 3 2

2 2 3 2 0 D 9 16 25

xp 3 D Iz 5 4 1,2

d 2 0,5
4 210 1

2
100

211 4

21004 2 4

100k 4

994 4

5 f j










































































































fl f 4 a 141 4

4Gtx y

Gtx 1

7 5 47

91 27
1 92 3 13341 1312 3

33 3 34 6

3 3 4 6

3 5 43
ht 2 4 5 2 2 5

kg 5 co impossible S

il 1521 125.55 3 g
4 8 53.55 3

54 8 gsx

4 8 5h

8 5 4 8
j 13113 9.3 2 33 3 32.3 2

33 3 z

3 3 Y

2x 3 S 4
µ 34 2 36.32 1 243

34 2 36.32 1 243 0

Y 32
1

92 369 243 0

19 9119271 0










































































































Y II 32 9 2 1 2 A liz
27 2 1 3 A X l

S 41,1
f 5.54 7 120.52 3 625

54 6 120.52 3 625 0

Y 52 3

y 120g 625 0

19 51191251 0

y à 5 És 2 3 3 5

EX4.2.2
a et hi ht rt v1 z voir solutions

fl logs B 112 3 B

g 109oz f 1 243 Hg
j logylkl 1 44 1294 24 E
b logg641 2 A f 8264

ll logs0,041 2 5 É É 904

MI logs V27 314 3314 f331V27

5 loge f 3 23 21 t










































































































tt logs V3 1 34 V3

ul 10912001 10912 1091100 2

V1 1096141 109619 10961361 2


